

Southgate Cricket Club 2021 Season Review



Middlesex Trophy winners

A statistical summary of the 2021 season and career statistics of all current and many past players





SOUTHGATE CRICKET CLUB 2021 REVIEW



TABLE OF CONTENTS

Topic	Page					
Table of Contents	2					
Results Table	3					
The 2021 Season - Introduction	4					
2021 End of Season Awards	6					
Batting Averages	7					
Bowling Averages	9					
In Memoriam	10					
Martin Fletcher	11					
Highlights of 2021: Batting totals	12					
Centuries	12					
Large partnerships	12					
Bowling: five wickets or more	13					
Economical bowling analyses	13					
Fielding and miscellaneous items	13					
1 st XI League Table	14					
1 st XI League Averages	15					
2 nd XI League Table	16					
2 nd XI League Averages	17					
3 rd XI League Table	18					
3 rd XI Report	18					
Southgate Colts	19					
SCC career records – Batting						
- Bowling	24					

Southgate Cricket Club 2021

Results

Category	Fixtures	Won	Tied	Drawn	Lost	Aband	Canc'd
1st XI Middlesex League	18	9	0	0	6	1	2
1 st XI Cup matches	4	4	0	0	0	0	0
2 nd XI Middlesex League	18	3	0	2	11	0	2
3 rd XI Middlesex League	18	0	0	2	12	0	4
1st XI Friendly	4	0	0	0	4	0	0
2 nd XI Friendly	2	0	0	0	2	0	0
3 rd XI Friendly	1	0	0	0	0	0	1
4 th XI Friendly	1	1	0	0	0	0	0
U21 Development XI	6	0	0	1	4	1	0
Totals	72	17	0	5	39	2	9





Southgate Cricket Club wishes to express its gratitude for the continued support of our long-time sponsor David Gakhar, managing director of U&M Group.



Introduction

The written record of the 2021 season is a somewhat abridged edition compared with previous years. Time and – sadly – lack of available accurate information have contributed to dampening the enthusiasm of embarking on this annual project. Much of the text is taken or adapted from the official annual report to members issued at the time of the 2022 AGM. The prospect of unnecessary repetition coupled with continuing disappointing results from the club's lower sides have contributed to a reduced commitment to maintaining records of performances.

The best thing about the 2021 season was that it took place pretty much as normal after the compromise half-season of 2020 where no league promotion or relegation took place. All league fixtures were fulfilled, and with minor inconveniences in the early part of the season such as social distancing and bringing one's own tea, cricket was played as it has been in the years before the pandemic.

On the field league results were mixed. As has been the case for a few years, the 1st XI held their own and won as many as they lost and were in with a chance of promotion throughout the year, but ultimately fell short, leaving a feeling of having under performed. While they were never going to surpass a very strong North London team, they had the ability and resources to come second, but didn't quite make it. A consolation was that they won the Middlesex Trophy, the club's first cup win since 1982. It was good to see strong sides being fielded on Sundays and they won some very tight matches through determination and spirit. More disappointing were the 2nd and 3rd XIs who were out of their depth in their respective divisions and were relegated.

In the 1st XI League, Tom Edrich scored 434 runs (average 31.00), Phil Dunnett 406 at 45.11 (including two consecutive centuries to round off the season) and Mike Stevens 378 at 31.50 while newcomer Shaun Gomes showed good promise. Dave Woffinden was once again the pick of the bowlers with 25 wickets at 14.24 a time, followed by a tight group of Ravi Desai, Jack Upton, Daragh Edwards and Mike Stevens who all took between 20 and 23 wickets each at between 16 and 18 runs apiece.

The 2nd XI, captained again by Scott Ellis, suffered a continuation of the previous two seasons, coming up against sides for which we seldom had comparable playing strength and were relegated. Scott himself led the batting with 340 runs at 37.77 and Kunaal Kankate with 327 at 40.87. Only Josh Holmes reached the 20 wicket target while Ben Elders, the man who might have made the difference, found himself bolstering the 1st XI. However, 18-year-old Will McLoughlin took 14 wickets at 17.42 and looked an eminently sound prospect at senior level.

The 3rd XI courageously turned out for another season against invariably vastly superior opposition. With the enforced absence of their captain and prominent player Dan Pyzer-Knapp, their spirit was as commendable as ever, being deprived of what would have been their only win by the Twickenham III last pair needing an unlikely 34 to win.

... continued

Jeremy Dangerfield is now Chair of the Walker Cricket Ground Trust. We at the cricket club are immensely grateful for his work on the Trust to maintain the Walker Ground and in making sure the interests of Southgate Cricket Club are taken into account.

Jeremy also managed the building of new nets, thanks to funding by the McLoughlin family in memory of Peter, the Grange Farm Centre Trust, The Walker Trust and donations from members ('the Friends of Southgate'). The nets were well used by junior and senior members and are a vital addition to the facilities. They were formally opened on the day of a match held between a McLoughlin Family XI and a Club XI.

The long-term plan to strengthen the club is to develop our players through the colts. With this objective, a Cricket Development Officer was hired. Jim Clarke started a programme of introducing youngsters from the age of five to the club and establishing strong relationships with local schools. There were signs of success in the increased numbers of colts, particularly this very young age group. However, this is a long-term strategy and the club is keen to accelerate results in this area.

The Club was once again sponsored by Underpin and Makegood, a local firm specialising in foundation construction. We thank them again them for their continued annual support.

In addition, estate agents Williamson Dace Brown have made a specific donation in support of the colts' section which was used to valuable effect for coaching and training kit purposes.

The most significant loss was the passing of Martin Fletcher, a monument of Southgate cricket for some 80 years for whom a fuller appreciation appears a little later and in whose memory Jennifer has donated a further sum to that which Martin had already passed to the club in his lifetime.

Comments made in this Introduction last year are no less relevant for the 2021 season. The incentive to produce a written record of the season is heavily diminished by the prevailing lack of interest in maintaining a scorebook or even entering the team's score on play-cricket.com which now seems to be the repository for club records. That is fine for the 1st XI who are obliged to enter full details of their matches, and should be for the other competing sides in the club but is sometimes overlooked, and is especially true of the 3rd XI. Southgate's records for the Middlesex Development League games are basically non-existent. There is no point in producing tables of averages which are palpably inaccurate, so it really means that only the 1st XI for certain and 2nd XI by and large, are now worth recording year on year. There are consequently no 3rd XI league averages published in this edition for that very reason, as explained later in the publication.

As a result of the above remarks, this may well be the last statistical Annual Review to be published, following a continuous period of over 40 years.

Ricky Gunn



End of Season Awards 2021

Hawker Trophy: Phil Dunnett

Chris Stevenson Batting Trophy: Tom Edrich (434 runs @ 31.00)

Derek Honnor Bowling Trophy: David Woffinden (25 wkts @14.24)

Colin Done Young Cricketer of the Year Trophy: Shaun Gomes

Martin Fletcher Clubman of the Year Trophy: Max Joseph

Geoff Slipper Spirit of Cricket Trophy: Liam Babwah Steve Rowe "Dunkirk" Trophy: Luke Brett

New Nets

A notable feature of the summer was the total refurbishment of the practice nets. This was largely financed by the family of Peter McLoughlin in his memory, who died tragically at the age of 49 in March 2017. Catherine, Christian, William and Richard are pictured on the day of the official opening of the nets on 18th September. The afternoon was celebrated with a family versus club cricket match.







BATTING AVERAGES 2021

These statistics are compiled from available scorebooks only.

A number of 3rd XI and Middlesex Development League matches were not recorded and consequently scores and fielding details from those matches are missing.

	Matches	Innings	N/Os	Runs	Highest * = not o	Average out	100s	50s	Ct	St
S-R. Sharma	5	3	1	95	73*	47.50	_	1	_	_
K. Walcott	3	2	2	42	28*	42.00	-	_	_	_
K. Kankate	10	10	2	327	66*	40.87	_	2	3	-
M. O. Stevens	18	18	3	593	103*	39.53	1	5	8	-
P. M. Dunnett	20	17	3	467	108*	33.35	2	1	15	6
S. R. Ellis	19	19	2	511	89*	30.05	-	5	8	9
T. W. Edrich	23	23	3	564	85	28.20	-	4	12	-
B. Oduwole	18	17	2	332	52*	22.13	-	1	4	-
S. Gomes	21	20	2	394	65	21.88	-	2	3	-
J. B. Jouning	16	14	3	239	41	21.72	-	-	7	-
A. Saeed	12	12	0	245	64	20.41	-	1	1	-
C. J. McLoughlin	9	9	0	175	52	19.44	-	1	2	2
A. J. Lynch	4	4	0	73	40	18.25	-	-	-	-
L. K. Babwah	11	9	4	90	41	18.00	-	-	5	-
P. S. Kularatne	5	5	1	70	33	17.50	-	-	-	-
S. Faruqi	17	16	5	179	70	16.27	-	1	2	-
M. P. G. Joseph	16	15	1	218	44	15.57	-	-	4	-
D. J. O'Leary	5	5	0	75	42	15.00	-	-	2	-
A. Patel	9	9	1	119	49*	14.88	-	-	1	-
O. M. Bellwood	10	10	1	126	58	14.00	-	1	3	-
Aman Sanapala	4	4	1	42	29*	14.00	-	-	-	-
T. M. R. Stanton	13	10	2	109	44	13.62	-	-	1	-
O. Parsons	8	6	1	67	23	13.40	-	-	1	-
J. N. Dangerfield	9	9	1	107	25	13.37	-	-	5	-
R. E. A. Miscampbell	17	16	0	203	42	12.68	-	-	3	-
S. Hafeji	10	10	0	125	56	12.50	-	1	-	-
J. D. Dangerfield	10	9	9	79	20	11.28	-	-	3	-
J. H. Upton	18	13	3	108	34	10.80	-	-	8	-
A. Atri	11	11	0	113	27	10.27	-	-	-	-
D. Edwards	17	8	2	56	17	9.33	-	-	13	-
L. Brett	23	22	0	179	136*	8.95	1	-	6	1
R. D. Gunn	7	7	0	56	16	8.00	-	-	3	3
D. A. Woffinden	12	7	2	39	16	7.80	-	-	4	-
W. Gardner	3	3	1	15	13	7.50	-	-	-	-
L. W. Johnston	11	9	5	22	8*	7.33	-	-	1	-
J. N. Holmes	13	8	2	41	19	6.83	-	-	3	-
M. I. Mirza	13	13	0	83	39	6.38	-	-	2	-
								(Conti	inued

	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Ct	St
					* = not	out				
H. D. Vipani	11	11	0	66	20	6.00	-	_	-	_
B. D. Elders	17	4	3	6	5*	6.00	-	-	10	_
S. Chauhan	8	8	0	45	23	5.62	-	-	3	-
W. Khalid	5	5	0	28	20	5.60	-	-	1	-
D. Pyzer-Knapp	4	4	1	16	7*	5.33	-	-	1	-
D. Gordon	5	5	0	24	13	4.80	-	-	-	-
W. B. McLoughlin	17	15	1	66	25	4.71	-	-	1	-
J. Young	6	6	0	27	23	4.50	-	-	1	-
P. S. Dave	5	5	0	20	13	4.00	-	-	-	2
J. Eustance-Brougham	3	2	1	4	4*	4.00	-	-	-	-
A. Madhavan	7	7	3	14	10	3.50	-	-	1	-
S. Parmar	7	7	1	20	9	3.33	-	-	-	-
L. Seera	3	3	0	9	9	3.00	-	-	-	-
R. Sharma	6	6	0	16	8	2.66	-	-	-	-
A. Babwah	11	5	2	7	4	2.33	-	-	2	-
R. Desai	19	6	2	6	4*	1.50	-	-	1	-
B. Benton	19	14	4	12	4	1.20	-	-	2	-
H. Thompson	5	5	2	3	2	1.00	-	-	1	-
A. Bloyce	4	2	0	1	1	0.50	-	-	1	-
G. Lynch	4	1	0	0	0	0.00	_	_	_	_

Played in two recorded matches:

L. T. Hutton dnb, 55 (1 ct); L. Patel 0, 3; P. Rahman 17, 27; A. D. Stanton 6, 1.

Played in one recorded match:

Arul 5*; G. Adolphus 0 (2 ct); T. Barton-Allen 8* (1 ct); T. Clark 1; G. Bloyce 2; E. Ferguson 2; A. Fitzpatrick 14; S. Herike 3; O. Hopkins 0; I. Khan 10; S. Knowles 6* (2 ct); A. Malhotra 1*; R. Malhotra 4; N. Masters-Waage dnb; A. Rai 39; T. Patel 1*; V. Rawji 0; A. Settipalli 8*; D. Sheikh 10; H. Smart 77; R. Surabathini 0; R. S. Uppal dnb.

83 players took part. 7,934 runs were recorded (including 866 extras); 180 catches were taken and 23 stumpings. 16 catches were left unidentified in the scorebooks this year.



BOWLING AVERAGES 2021

These statistics are compiled from available scorebooks only. A number of 3rd XI and Middlesex Development League matches were not recorded and consequently bowling analyses from those matches are not available for inclusion.

	Overs	Mdns	Runs	Wkts	Average	Best	5wkt		Economy Runs/over
M. P. G. Joseph	21.4	0	101	8	12.62	3-26	_	16.25	4.66
D. A. Woffinden	141.3	26	373	28	13.32	6-32		30.32	2.63
B. D. Elders	112.4	12	423	27	15.66	5-66		25.03	3.75
G. Lynch	22.0	1	95	6	15.83	3-28		22.00	4.31
W. B. McLoughlin	108.2	12	418	25	16.72	6-46		26.00	3.85
J. H. Upton	134.5	14	489	29	16.86	4-27	_	27.89	3.62
R. Desai	114.0	19	460	27	17.03	4-26	_	25.33	4.04
P. S. Kularatne	33.0	5	105	6	17.50	3-32	-	33.00	3.18
L. K. Babwah	71.0	8	271	14	19.35	3-32	-	30.42	3.81
M. O. Stevens	130.5	12	570	29	19.65	4-32	-	27.06	4.35
P. M. Dunnett	13.0	2	40	2	20.00	1-9	-	39.00	3.08
D. Edwards	134.3	18	483	23	21.00	4-43	-	35.08	3.59
A. Patel	51.2	0	232	11	21.09	3-29	-	28.00	4.51
A. Babwah	49.5	3	220	10	22.00	3-29	-	29.90	4.41
L. W. Johnston	64.2	4	334	15	22.26	4-53	-	25.73	5.19
J. N. Holmes	110.2	10	526	23	22.87	5-65	1	28.78	4.76
S. Gomes	54.0	7	208	9	23.11	3-37	-	36.00	3.85
A. Bloyce	23.0	4	94	3	31.33	2-33	-	46.00	4.08
H. D. Vipani	10.0	0	68	2	34.00	2-48	-	30.00	6.80
T. M. R. Stanton	51.2	2	317	9	35.22	4-55		34.22	6.17
S. Chauhan	28.0	1	195	5	39.00	2-37	-	33.60	6.96
A. Atri	44.4	3	245	6	40.83	3-40	-	44.66	5.48
H. Thompson	41.0	6	166	4	41.50	2-29	-	61.05	4.04
B. Benton	82.3	5	513	12	42.75	4-26	-	41.25	6.21
P. Rahman	10.0	1	45	1	45.00	1-19	-	60.00	4.50
A. Madhavan	62.2	9	226	5	45.20	2-23	-	74.80	3.62
S. Parmar	19.0	0	140	3	46.66	2-44	-	38.00	7.36.
K. Kankate	49.4	1	241	5	48.20	2-11	-	59.60	4.85
S. Hafeji	32.0	1	207	4	51.75	2-54	-	48.00	6.46
O. Parsons	25.0	0	166	3	55.33	2-44	-	50.00	6.64
Aman Sanapala	13.0	3	69	1	69.00	1-20	-	78.00	5.30
K. Walcott	18.0	2	90	1	90.00	1-37	-	108.00	5.00
J. Young	25.0	1	182	2	91.00	1-44	-	75.00	7.28
S. Faruqi	60.4	2	330	2	165.00	1-32	-	182.00	5.44
I. Khan	11.0	0	64	0	-	0-64	-	-	5.81
W. Gardner	17.0	0	100	0	-	0-13	-	-	5.88.

Bowlers who bowled fewer than 10 overs:

	Overs	Mdns	Runs	Wkts	Average	Best	5wkts S/Rate		Economy
								Balls/wkt	Runs/over
A. Rai	9.0	2	27	2	13.50	2-27	_	27.00	3.00
R. S. Uppal	9.0	2	35	1	35.00	1-35	-	54.00	3.88
D. Sheikh	9.0	0	53	3	17.66	3-53	-	18.00	5-88
A. Malhotra	8.0	0	46	1	46.00	1-22	-	48.00	5.75
T. Barton-Allen	8.0	1	35	1	35.00	1-35	-	48.00	4.37
W. Khalid	5.0	0	45	0	-	0-9	-	-	9.00
V. Rawji	5.0	0	38	0	-	0-38	-	-	7.60
O. Hopkins	4.0	0	21	2	10.50	2-21	-	12.00	5.25
A. J. Lynch	4.0	0	14	0	-	0-6	-	-	3.50
B. Oduwole	4.0	0	19	0	-	0-19	-	-	4.75
G. Bloyce	4.0	0	24	0	-	0-24	-	-	6.00
A R. Malhotra	3.0	0	14	0	-	0-14	-	-	4.66
J. Eustance-Brougham	2.1	0	19	0	-	0-9	-	-	8.79
L. Brett	2.1	0	22	1	22.00	1-0	-	13.00	10.18
A. Fitzpatrick	2.0	0	21	0	-	0-21	-	-	10.50
A. Saeed	2.0	0	15	1	15.00	1-15	-	12.00	7.50
O. M. Bellwood	1.0	0	6	0	-	0-6	-	-	6.00
S.R. Ellis	1.0	0	8	0	-	0-8	-	-	8.00
N. Masters-Waage	1.0	0	5	0	-	0-5	-	-	5.00

Deaths of club members in 2021

Richard (Dick) Newton died on 2nd February at the age of 75 after a long fight against cancer. He was an attacking batsman having represented South of England Young Cricketers as a schoolboy and was club captain in 1971 and 1972. He had also been a good rugby player with Old Elizabethans, Barnet, having previously captained the school.

Mike Dyson died on 28th March at the age of 88. Mike joined the club in 1954 as a right-arm in-swing bowler, playing until 1970 and was always a regular attender at the annual club dinners. In 1966 he returned the remarkable analysis of 9 for 12 in 10.3 overs in a 2nd XI match against Hertford.

Martin Fletcher died on 19th May aged 92. A well-attended funeral at West Herts Crematorium, Garston was followed by a reception at the Ardmore House Hotel, St Albans. Please see a separate piece on the following page for a fuller appreciation of Martin's life at Southgate Cricket Club.

Martin Fletcher 1928-2021



Martin joined Southgate Cricket Club as a colt in 1942. He graduated to becoming the 1st team scorer and became elected as a player in 1947.

He played for the 1st XI and Extra 1st XI as a left-handed batsman before representing the lower sides in later years and captaining the 2nd XI in 1977-78. He was also a capable wicketkeeper.

He became club secretary in 1961, initially jointly but independently from 1967, until he retired from the post in 1994. Martin became a vice-president in 1968 and was Club President from 1994-1998. He also performed various sub-committee roles over the years and regularly stood as an umpire. His dedication to the club was second to none.

As a young man he played football for Norsemen FC and subsequently became a referee. He played his last cricket match at the age of 77 in the club's 150th anniversary year.

His more notable cricket performances include:

Highest score: 126 not out v Old Citizens, Sunbury 1962 (his only century).

Notable partnerships (all 1st XI/Extra 1st XI bar one)

1st wicket 153 (G. Orchard-Lisle 73, M. Fletcher 75) v Old Citizens (h) 1953

2nd wicket 147 (M. Fletcher 81, M. S. Glennie 68) v B.B.C. (a) 1962

2nd wicket 135 (J. J. Conroy 90*, M. Fletcher 65) v Totteridge (a) 1965

6th wicket 109 (P. Wells 125, M. Fletcher 63) 2nd XI v Teddington II (ML) (a) 1977

8th wicket 77 (M. Fletcher 44*, D. G. Schunker 67) v Richmond (h) 1955

9th wicket 63* (M. Fletcher 48*, P. J. Fisher 23* v Hertford (a) 1964

Martin was the first to acknowledge that his role as Honorary Secretary was made considerably easier through the constant support of his wife Jennifer to whom we offer our sincere condolences. Between them they made a huge contribution to the club over several decades.

RDG

Features of 2021

(NB: MCCL = Middlesex County Cricket League; MDL = Middlesex Development League)

BATTING

Highest totals

For:

250 for 6 2nd XI v Barnes II (MCCL) (a)

228 for 3 1st XI v Indian Gymkhana I (MCCL) (a)

220 for 6 2nd XI v Uxbridge II (MCCL) (h)

Against:

338 for 3 North Middlesex IV v 3rd XI (MCCL) (h)

313 for 9 Harrow Town III v 3rd XI (MCCL) (a)

303 for 8 Uxbridge III v 3rd XI (MCCL) (a)

293 for 6 Winchmore Hill II v 2nd XI (MCCL) (a)

284 for 9 North London II v 2nd XI (MCCL) (a)

278 for 5 Highgate III v 3rd XI (MCCL) (h)

276 for 5 North London I v 1st XI (MCCL) (a)

275 for 8 Shepherds Bush III v 3rd XI (MCCL) (h)

274 for 8 Hampstead IV v 3rd XI (MCCL) (a)

273 for 2 Highgate III v 3rd XI (MCCL) (a)

Lowest All-Out Totals for:

- 15 (9 wkts 1 injured) MDL XI v Totteridge Millhillians MDL (a)
- 22 3rd XI v North Middlesex IV (MCCL) (a)
- 27 3rd XI V Acton III (MCCL) (a)
- 51 3rd XI v Hampstead IV (MCCL) (h)
- 62 3rd XI v Shepherds Bush III (MCCL) (a)
- MDL Under 21 XI v Crouch End MDL XI (h)
- 69 3rd XI v North Middlesex IV (MCCL) (h)
- 76 3rd XI v Highgate III (MCCL) (h)
- 78 3rd XI v Uxbridge III (MCCL) (h)
- 82 1st XI v North London I (MCCL) (a)
- 93 1st XI v South Hampstead I (MCCL) (a)
- 94 1st XI v MTSSC I (MCCL) (a)

Lowest All-Out Totals against:

- 82 South Hampstead I v 1st XI (Middlesex Cup Final) (h)
- 97 MTSSC I v 1st XI (MCCL) (h)

Centuries (4) M. O. Stevens 103* 1st XI v Tower Hamlets I (Middlesex Cup) (h)

P. M. Dunnett 102 1st XI v Uxbridge I (MCCL) (h)

P. M. Dunnett 108* 1st XI v Indian Gymkhana I (MCCL) (a)

L. Brett 136* 4th XI v Southgate Adelaide III (h)

In a season either not noted for large partnerships or where scores were simply not recorded, the 1st wicket stand of 102 between P. M. Dunnett (108*) and T. W. Edrich (41) for the 1st XI v Indian Gymkhana (ML) (h) was the most notable instance available.

BOWLING

Five or more wickets in an innings (5):

D. A. Woffinden	6-32	1st XI v Harrow I (MCCL) (a)
W. B. McLoughlin	6-46	1st XI v Hertford I (a)
D. A. Woffinden		1st XI v Uxbridge I (MCCL) (a)
J. N. Holmes		2 nd XI v Kenton II (MCCL) (h)
B. D. Elders	5-66	2 nd XI v Winchmore Hill II (MCCL) (h)

Economical bowling analyses:

W. B. McLoughlin	7.0-3-7-1	Under 21 XI v Totteridge Millhillians (MDL) (h)
S. Gomes	7.0-4-8-1	Under 21 XI v Enfield U21s (MDL) (a)
L. K. Babwah	7.0-3-11-1	2 nd XI v Harrow II (MCCL) (a)
D. A. Woffinden	9.0-4-14-2	1 st XI v Harrow I (MCCL) (h)
D. A. Woffinden	9.0-2-17-3	1 st XI v South Hampstead I Middx Trophy Final (h)
D. Edwards	7.3-3-13-2	1st XI v Harrow I (MCCL) (a)
D. Edwards	7.0-0-14-1	1 st XI v South Hampstead I Middx Trophy Final (h)
D. A. Woffinden	7.0-0-14-1	1 st XI v MTSSC I (MCCL) (h)
L. K. Babwah	9.0-3-16-0	1 st XI v Indian Gymkhana I Middx Trophy (h)
W. B. McLoughlin	8.0-2-16-3	2 nd XI v Winchmore Hill II (MCCL) (h)

FIELDING

Most extras in an innings

64 extras (58 wides) conceded by 3^{rd} XI v Highgate III (MCCL) (h)

Margins

Biggest victory:

Won by 8 wickets 1st XI v MTSSC I (MCCL) (h)

Heaviest defeats:

Lost by 10 wickets	3 rd XI V North Middlesex IV (MCCL) (a)
Lost by 10 wickets	3 rd XI V Acton III (MCCL) (a)
Lost by 9 wickets	3 rd XI v Brondesbury III (MCCL) (h)
Lost by 8 wickets	2 nd XI v Uxbridge II (MCCL) (a)
Lost by 269 runs	3 rd XI v North Middlesex IV (MCCL) (h
Lost by 225 runs	MDL U21 XI v Totteridge Millhillians MDL (h)
Lost by 216 runs	3 rd XI v Uxbridge III (MCCL) (a)
Lost by 215 runs	3 rd XI v Harrow Town III (MCCL) (a)
Lost by 131 runs	3 rd XI v Highgate III (MCCL) (a)

2021 - First Teams - Division Two

			Overs Matches								Tim	ed Mate	ches					
	Games	Won	Tied		Lost NR			w	on	Tied		Draw	n		Lost	NR	Pen	Total
	Pld	10pt	5pt	2pt	1pt	0pt	3pt	12pt	10pt	5pt	5pt	4pt	2pt	1pt	0pt	3pt	Pts	Pts
North London	18	5	0	0	1	2	1	6	2	0	0	0	0	0	0	1	0	149
Barnes	18	5	0	1	0	2	1	2	2	0	0	0	0	0	3	2	0	105
South Hampstead	18	7	0	1	0	1	0	0	2	0	0	1	0	0	4	2	0	102
Southgate	18	5	0	0	0	3	1	1	3	0	0	0	0	0	3	2	0	101
Harrow	18	6	0	1	2	0	0	0	3	0	1	0	0	0	4	1	(1)	101
Eastcote	18	3	0	0	1	3	2	3	0	0	0	0	0	1	3	2	0	80
MTSSC	18	3	0	1	1	4	0	0	4	0	0	0	0	1	3	1	(3)	74
Indian Gymkhana	18	3	0	0	0	5	1	1	1	0	2	0	1	0	3	1	0	70
Wycombe House	18	4	0	1	1	2	1	1	0	0	1	0	0	0	6	1	(2)	64
Uxbridge	18	0	0	1	3	4	1	1	0	0	1	0	1	2	3	1	0	32

Penalties

Harrow - 1pt deduction failing to remark creases.

Wycombe House - 1pt deduction failing to remark creases.

MTSSC - 1pt deduction failing to remark creases.

Wycombe House - 1pt deduction failing to remark creases.

MTSSC - 1pt deduction for sub-standard pitch marks.

MTSSC - 1pt deduction for sub-standard pitch marks.

2021 1st XI League Averages

BATTING		$(*=not\ out)$											
	Mchs	Inns	N/O	Runs	Average	H'st	v Opposition	100/50	s Ct	St			
P. M. Dunnett	14	12	3	406	45.11	108*	Indian Gymkhana (l	n) 2/1	9	5			
M. O. Stevens	14	14	2	378	31.50	83	Eastcote (h)	-/4	4	-			
T. W. Edrich	16	16	2	434	31.00	85	Harrow (a)	-/2	8	-			
S. Gomes	13	13	2	231	21.00	64	Barnes (h)	-/1	3	-			
J. B. Jouning	13	11	3	154	19.25	33	North London (h)	-/-	6	-			
J. N. Dangerfield	6	6	1	76	15.20	25	Uxbridge (a)	-/-	3	-			
R. E. A. Miscampbe	ell 15	14	0	174	12.43	42	MTSSC (a)	-/-	-	-			
M. P. G. Joseph	6	5	1	33	8.25	14	Barnes (h)	-/-	2	-			
J. H. Upton	13	9	2	52	7.43	31*	North London (a)	-/-	7	-			
T. M. R. Stanton	4	3	2	7	7.00	7	South Hampstead (a	ı) -/-	1	-			
D. A. Woffinden	11	6	2	27	6.75	16	Barnes (a)	-/-	2	-			
S. R. Ellis	2	2	0	11	5.50	10	Barnes (a)	-/-	-	1			
D. Edwards	13	5	1	20	5.00	15	South Hampstead (a	ı) -/-	12	-			
B. Oduwole	1	1	0	4	4.00	4	South Hampstead (h	n) -/-	-	-			
B. D. Elders	12	2	2	6	-	5*	South Hampstead (a	ı) -/-	4	-			
R. Desai	16	5	1	4	1.00	4*	Barnes (h)	-/-	1	-			
L. Brett	1	1	0	1	1.00	1	MTSSC (a)	-/-	-	-			
L. K. Babwah	2	1	1	1	-	1*	Uxbridge (h)	-/-	-	-			
H. Thompson	1	1	1	0	-	0*	Barnes (a)	-/-	1	-			
S-R. Sharma	1	0	0	0	-	dnb	North London (a)	-/-	-	-			
J. N. Holmes	1	0	0	0	-	dnb	North London (a)	-/-	1	-			
L. T. Hutton	1	0	0	0	-	dnb	MTSSC (h)	-/-	1	-			

²² players.

BOWLING

	Overs	Mdns	Runs	Wkts	Av'ge	S/R	Econ 5	wkt	Best	v Opposition
D. A. Woffinden	132.3	24	356	25	14.24	31.80	2.68	2	6-32	Harrow (a)
R. Desai	96.0	18	387	23	16.83	25.04	4.03	-	4-26	MTSSC (a)
J. H. Upton	101.2	10	351	20	17.55	30.40	3.46	-	3-21	MTSSC (h)
D. Edwards	93.3	14	357	20	17.85	28.05	3.81	-	4-43	Wycombe Hse (a)
M. O. Stevens	96.0	10	397	22	18.05	26.18	4.13	-	4-32	Barnes (a)
L. K. Babwah	11.0	0	43	2	21.50	33.00	3.90	-	2-35	Uxbridge (h)
B. D. Elders	61.3	7	260	12	21.67	30.75	4.22	-	4-22	Uxbridge (h)
S. Gomes	5.0	0	34	0	-	-	6.80	-	0-34	Barnes (a)
J. N. Holmes	4.0	0	37	0	-	-	9.25	-	0-37	North London (a)

2021 - Second Teams - Division Two

			Overs Matches				Timed Matches												
	Games	Won	Tied		Lost		NR	W	on	Tied		Dı	rawn		Lost	NR	Ump	Pen	Total
	Pld	10pt	5pt	2pt	1pt	0pt	3pt	12pt	10pt	5pt	5pt	4pt	2pt	1pt	0pt	3pt	Bonus	Pts	Pts
Winchmore Hill	18	8	0	0	0	1	0	2	3	0	2	0	1	0	0	1	4	0	153
North London	18	6	0	0	0	3	0	1	2	0	3	0	1	0	0	2	4	0	119
Barnes	18	7	0	0	0	1	1	1	1	0	2	0	1	1	2	1	4	(10)	105
Harrow	18	4	0	0	0	3	2	1	1	0	0	0	1	1	4	1	4	0	78
Kenton	18	3	0	0	2	2	2	0	2	0	2	0	0	1	3	1	4	0	76
Stoke Newington	18	3	0	1	0	3	2	0	2	0	0	1	0	0	4	2	1	0	69
Wembley	18	3	0	0	2	2	2	1	0	0	1	1	2	1	2	1	0	0	67
Uxbridge	18	1	0	0	2	5	1	1	2	0	1	0	1	2	0	2	4	0	66
SKLPC	18	1	0	1	2	3	2	0	4	0	0	0	0	0	4	1	2	0	65
Southgate	18	2	0	1	0	4	2	0	1	0	0	1	0	1	6	0	4	0	47

Penalties

Barnes - 10 pt deduction (plus 5pts suspended) for playing an unregistered non-resident player.

2021 2nd XI League Averages

BATTING	,										
	Mchs	Inns	N/O	Runs	Average	H'st	v Opposition	100/50s	Ct	St	
K. Walcott	3	3	2	42	42.00	28*	Harrow (h)	-/-	-	-	
K. Kankate	10	10	2	327	40.87	66*	North London (h)	-/2	3	-	
S. R. Ellis	11	11	2	340	37.77	89*	Stoke Newington (h)) -/3	6	8	
A. Saeed	12	12	0	245	20.42	64	SKLPC (h)	-/1	1	-	
S. Faruqi	12	12	4	157	19.62	70	Wembley (h)	- /1	2	-	
C. J. McLoughlin	6	6	0	116	19.33	52	North London (a)	- /1	2	2	
L. K. Babwah	4	4	1	58	19.33	41	Harrow (a)	-/-	2	-	
T. M. R. Stanton	4	4	0	74	18.50	44	Stoke Newington (h)) -/-	-	-	
A. J. Lynch	4	4	0	73	18.25	40	Barnes (a)	-/-	-	-	
B. Oduwole	12	12	1	198	18.00	36	Barnes (a)	-/-	4	-	
M. P. G. Joseph	7	7	0	121	17.28	44	Barnes (a)	-/-	2	-	
J. N. Dangerfield	2	2	0	31	15.50	23	Winchmore Hill (a)	-/-	-	-	
D. J. O'Leary	5	5	0	75	15.00	42	Winchmore Hill (a)	-/-	2	-	
O. M. Bellwood	10	10	1	126	14.00	58	Wembley (h)	- /1	3	-	
J. D. Dangerfield	9	8	2	76	12.66	20	Stoke Newington (h)) -/-	2	-	
J. N. Holmes	9	6	2	34	8.50	19	Wembley (a)	-/-	1	-	
A. Atri	4	4	0	26	5.25	14	Wembley (a)	-/-	-	-	
L. W. Johnston	8	5	3	10	5.00	8*	SKLPC (h)	-/-	1	-	
W. B. McLoughlin	9	8	0	28	3.50	12	Harrow (a)	-/-	-	-	
H. Thompson	4	4	1	3	1.00	2	Wembley (a)	-/-	-	-	
A. Madhavan	4	4	2	1	0.50	1*	SKLPC (h)	-/-	-	-	
L. Brett	3	3	0	1	0.33	1	Wembley (a)	-/-	-	-	
B. D. Elders	2	2	1	0*	0.00	0*	Winchmore Hill (h)	-/-	4	-	
B. Benton	4	3	0	0	0.00	0	Winchmore Hill (h)	-/-	1	-	

Also played: A. Babwah dnb, dnb; P. S. Dave 1; G. Lynch dnb, dnb, dnb; M. I. Mirza 0; D. Pyzer-Knapp 0; A. Rai 39; S-R. Sharma dnb; H. Smart 77; R. S. Uppal dnb; J. Young 3.

There were 11 other catches not allocated to fielders.

BOWLING

	Overs	Mdns	Runs	Wkts	Av'ge	e S/R	Econ	5wks	Best	v Opposition
A. Babwah	15.4	0	43	4	10.75	23.50	2.74	-	3-29	Uxbridge (h)
M. Joseph	21.4	0	101	8	12.62	16.25	4.66	-	3-26	Stoke Newington (a)
B. D. Elders	27.0	2	91	7	13.00	23.14	3.37	1	5-66	Winchmore Hill (h)
A. Rai	9.0	2	27	2	13.50	27.00	3.00	-	2-27	Uxbridge (h)
A. Saeed	2.0	0	15	1	15.00	12.00	7.50	-	1-15	Winchmore Hill (a)
G. Lynch	22.0	1	95	6	15.83	22.00	4.31	-	3-28	Barnes (a)
W. B. McLoughlin	61.2	3	244	14	17.42	26.28	3.97	-	3-16	Winchmore Hill (h)
J. N. Holmes	91.2	9	396	20	19.80	27.40	4.33	1	5-65	Kenton (h)
T. M. R. Stanton	19.4	1	107	5	21.40	23.60	5.44	-	4-55	Stoke Newington (h)
L. W. Johnston	48.5	4	282	11	27.00	26.63	5.77	-	4-53	Stoke Newington (h)
L. K. Babwah	22.0	5	85	3	28.33	44.00	3.86	-	2-55	Winchmore Hill (a)
A. Madhavan	29.2	3	95	3	31.66	58.66	3.23	-	2-23	Harrow (a)
R. S. Uppal	9.0	2	35	1	35.00	54.00	3.88	-	1-35	Barnes (a)
B. Benton	23.3	1	112	3	37.33	47.00	4.80	-	1-13	Stoke Newington (h)
H. Thompson	41.0	6	166	4	41.50	61.50	4.04	-	2-29	Stoke Newington (a)
K. Kankate	49.4	1	241	5	48.20	59.60	4.85	-	2-11	Barnes (a)
K. Walcott	18.0	2	90	1	90.00	108.00	5.00	-	1-37	Barnes (a)
S. Faruqi	52.4	2	270	2 1	135.00	158.00	5.12	-	1-32	North London (h)
J. Young	10.0	0	70	0	-	-	7.00	-	0-14	Wembley (h)
)-6-0; S.	R. Ellis	s 1.0-0-	-8-0; V	V. Khalid 1.0-0-9-0;
A. J. Lynch 4.0-0-	14-0; N.	Master	s-Waaş	ge 1.0-0	0-5-0.					

2021 - Third Tier - Division One

			Overs Matches						Timed Matches									
	Games	Won	Won Tied Lost NR						on	Tied		Dra	awn		Lost	NR	Pen	Total
	Pld	10pt	5pt	2pt	1pt	0pt	3pt	12pt	10pt	5pt	5pt	4pt	2pt	1pt	0pt	3pt	Pts	Pts
North Middlesex 4	18	6	0	0	0	1	2	0	4	0	0	0	0	2	1	2	0	114
Brondesbury 3	18	5	0	0	0	1	3	2	2	0	0	0	0	0	2	3	0	112
Acton 3	18	3	0	2	0	1	3	1	3	0	0	0	1	0	2	2	0	93
Harrow Town 3	18	4	0	0	1	3	1	2	1	0	1	0	2	0	2	1	0	90
Hampstead 4	18	4	0	0	0	2	3	1	1	0	2	0	0	0	2	3	0	90
Highgate 3	18	3	0	1	0	3	2	1	2	0	2	0	0	1	1	2	0	87
Shepherds Bush 3	18	3	0	0	0	3	3	0	1	0	2	0	0	0	3	3	0	68
Twickenham 3	18	1	0	0	2	2	4	2	0	0	1	1	0	1	1	3	0	67
Uxbridge 3	18	3	0	0	1	2	3	1	0	0	0	1	0	1	5	1	0	60
Southgate 3	18	0	0	0	0	7	2	0	0	0	0	0	1	1	5	2	0	15

The 3rd XI failed to maintain batting details for three matches: Harrow Town (away), Acton (away) and Brondesbury (home). Similarly, bowling and fielding details are missing for six matches against Harrow Town (away), Acton (away), Brondesbury (home), North Middlesex (away), Harrow Town (home) and Uxbridge (home). With such a significant amount of information missing, a meaningful set of team averages for the 2021 3rd XI league season is not realistically possible.

In what was a disheartening season invariably played against sides of vastly greater standard, and in the enforced absence of their elected captain, the players remained exceedingly positive, displaying an admirable spirit week after week. There were some notable personal achievements: Sarfaraz Hafeji's 56 to salvage an honourable draw at Highgate and Ankit Patel's 49 not out at home to Twickenham where the opposition held on with nine wickets down. Ankit was the leading all-rounder with 118 runs and 10 wickets while Abhi Atri and Sandeep Chauhan provided support. In the few games he played, Parinda Kularatne could be relied upon to provide a good return with both bat and ball.

Southgate Colts 2021

There was a full outdoor season for the Colts in 2021. Training started at the end of March and league games were played until mid-July. Enthusiasm was such that friendlies were played weekly until September.

Jim Clarke established a weekly session for youngsters aged 5-8 and between 20 and 30 turned out regularly. We are hopeful this will produce the pipeline we need into the older teams. There is a still a low number of Under 11s and this team had to be supplemented by over age players to fulfil fixtures. However, there are a few very promising players, such as Nevin Kularatne, Dheer and Harshil Shah, and we can be optimistic about quality if not numbers.

The Under 13s had a large squad with about 25 different players taking part in matches. They had a good season, winning approximately half their matches. Individual performances included a maiden 50 for Daniel Amon and consistent all-round performances from George Bloyce, Anand Ramdial, Kazi Hasan and Akhil Sanapala.

The Under 15s did very well in winning their division. They started the season well, winning the first five games, with good batting performances by Anil Settipalli (196 runs) and Lohit Seera (178 runs). There were also strong bowling performances from Abhishek Kodali, Arthur Bloyce, Jake Flannagan and Pasoon Rahman. They played as a team and supported each other throughout the entire season.

Special thanks are due to Ashraf Hosein as Head Coach and Jim Clarke as Development Officer and the other coaches who helped with training and games: Parinda Kularatne, Riaan De Villiers, Anandan Arnold, Hemanth Tummala, Lithira Abhayaratne, Shiv-Raj Sharma and Ricky Gunn.

Popular summer camps were also run by Ashraf Hosein and Jim Clarke during the school holidays with assistance from James Dangerfield, Henry Thompson, Scott Ellis, Shrey Parmar and Luke Brett.

The Colts were sponsored by Williamson Dace Brown, local property consultants, for which we are very grateful.

Doug Gordon

Career records of current and past players to end of 2021 season (where so far historically calculated ...)

Includes all Southgate C.C. League, Cup and friendly matches but not 20-over competitions. Players new to the club in 2021 may not appear yet but please see 2021 averages (pp 7-10)

Batting and Fielding

6		0							Field	ling
	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Ct	St
					(* = not o					
O S Ali	176	142	38	2107	207*	20.26	3	5	38	0
T J Allan	70	64	8	1744	128*	31.14	2	7	33	0
James Allen	19	17	0	307	73	18.06	0	1	6	0
John Allen	51	29	11	273	42	15.17	0	0	18	0
D G Ashley	185	160	36	3493	118	28.16	3	17	82	3
A Babwah	67	39	14	59	9	2.36	0	0	11	0
L K Babwah	92	77	12	972	125*	14.95	1	1	22	0
S M Babwah	54	36	15	253	28*	12.05	0	0	4	0
S Banyard	55	51	10	1189	121*	29.00	1	7	19	0
D J Beatty	137	134	13	2513	72*	20.77	0	9	30	0
O M Bellwood	173	158	16	2291	100	16.13	1	9	74	13
J D Berman	109	83	14	1262	71	18.29	0	5	31	0
G K Berg	34	32	4	743	128*	26.53	1	3	14	0
M R Bhatt	34	18	9	82	19	9.11	0	0	8	0
M A Bhatti	56	25	7	240	28*	13.33	0	0	6	0
R Bishop-Laggett	456	375	87	7276	107*	25.26	1	26	232	36
G N Blackmore	394	215	86	2145	100	16.62	1	2	129	0
C M C Blake	20	20	2	814	115	45.22	1	5	5	0
R N Blanchflower	401	379	60	5593	77*	17.53	0	12	180	3
A Booth	41	39	10	649	75*	22.38	0	7	14	0
P J B Bownes	118	111	7	2101	118	20.20	1	7	38	0
L Brett	35	33	0	235	136*	7.12	1	0	1	0
M J Brown	61	60	2	2515	120	43.36	6	15	22	7
P A Brown	129	123	20	3171	111*	30.79	3	23	46	0
G M Burton	544	429	133	8555	103*	28.90	1	33	125	2
R K A Bynoe	30	26	7	559	66*	29.42	0	2	12	0
H Cahill	85	58	20	247	44	6.50	0	0	41	21
A J Carr	870	614	155	9434	108	20.55	3	28	241	0
M D Carter	92	72	14	611	61	10.53	0	1	30	0
N Chadwick	249	117	64	330	23*	6.23	0	0	37	0
G P Clark	25	19	1	204	33	11.33	0	0	6	0
T Clark	32	29	7	261	38*	11.86	0	0	13	0
M T Clucas	97	77	17	919	66	15.32	0	2	20	0
M J Cox	31	28	11	102	14	6.00	0	0	9	0
R C Crabtree	135	98	23	1114	52	14.85	0	1	29	0
S Cradock	478	317	109	4454	90	21.41	0	11	125	0
M L Creese	160	140	22	3547	184*	30.06	5	17	94	0
K Critchell	23	20	2	364	72	20.22	0	1	3	0
J D Dangerfield	839	718	140	13798	133	23.87	9	57	311	7
-									~	. •

	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Fie Ct	lding St
J N Dangerfield	111	92	20	895	58	12.43	0	1	36	0
E Dass	30	26	2	438	110	18.25	1	2	9	0
P S Dave	135	130	12	2920	100*	24.75	1	20	41	9
A C Davis	327	241	71	3424	118	20.14	1	6	238	68
R Dawson-Goodey		21	3	600	80	33.33	0	2	4	0
W J Dean	621	566	70	14558	141*	29.35	12	78	239	0
M De Crescenzo	151	135	14	1880	108	15.54	1	6	33	0
G P Delf	122	113	14	1988	136*	20.08	2	9	33	0
R Desai	186	96	47	395	51	8.06	0	1	16	0
R Devarakonda	42	37	6	454	39	14.65	0	0	7	0
A Devkamalth	26	24	4	484	67	24.20	0	2	2	0
B Dharmarajah	89	63	18	729	37	16.20	0	0	18	0
M Dias	27	19	1	68	11	3.78	0	0	12	0
W Dias	55	44	8	330	31	9.17	0	0	20	0
A N Dixit	18	17	0	128	23	7.52	0	0	0	0
H M Dowsett	532	487	57	9105	114*	21.17	2	35	114	0
M T Dunn	560	501	81	11783	136*	28.05	6	61	229	0
P M Dunnett	356	300	63	5463	114*	23.05	5	22	237	124
A K Durgacharan	674	613	60	14296	129	26.55	11	70	205	0
T W Edrich	283	272	25	8075	132	32.69	10	50	125	0
D Edwards	69	45	12	414	81*	12.55	0	2	22	0
B D Elders	65	30	18	130	22*	10.83	0	0	27	0
S R Ellis	135	124	13	2522	94	22.72	0	12	92	61
S Faruqi	282	211	50	2277	70	14.14	0	2	62	0
M D Feeney	262 164	145	14	2969	153*	22.66	3	14	56	2
A L Fleming	21	143	2	729	162*	42.88	2	4	1	0
S Flook	476	261	87	2827	102*	16.25	1	7	133	0
N G Folland	92	91	13	2720	101	34.87	4	15	48	0
H N Folland	39	36	4	872	107*	27.25	2	4	8	0
A D Francey	32	31	3	1010	135	36.07	1	4	13	0
S Goodley	89	51	19	346	57	10.81	0	1	40	36
D Gordon	505	458	52	8404	100*	20.70	1	34	130	0
R D Gunn	1172	1036	138	20826	150*	23.17	14	91	615	363
M E Gurr	48	43	5	1908	141*	50.21	6	10	23	0
A Habberley	136	61	15	171	21*	3.72	0	0	14	0
T H L Hadgie	142	120	22	2100	81	21.42	0	8	36	0
S Hafeji	77	64	9	744	73	13.52	0	3	9	0
K C Haria	152	132	22	2505	145*	22.77	1	10	39	2
T A Harris	167	162	22	3636	109	25.97	2	18	56	0
B R Hartman	358	311	53	6265	112*	24.28	4	28	87	0
E S Harvey	33	30	12	200	20*	11.11	0	0	14	0
K Hassanin	49	43	7	901	117*	25.03	1	5	9	0
A Hawthorn	366	175	79	692	34*	7.21	0	0	61	0
									65	
I W Henley	368 74	329	34	5049 94	77 9*	17.11	$0 \\ 0$	9 0	05	0
R M Hewit	74 82	35 65	14		-	4.48				
R F Hill	82 150	65 108	22	582	44* 104	13.53	0	0	17	0
J E Hobbs	159	108	40	1209	104	17.78	1	3	62	0
P M G Honnor	187	170	24	4111	124*	28.16	4	25	28	0

]	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Fiel Ct	ding St
A O Hoskin	68	64	11	1751	132	33.04	3	10	21	0
D C J Howell	378	226	52	1719	68*	9.88	0	1	94	0
D J Hudson	63	60	10	1938	134	38.76	7	5	15	0
M R Hughes	140	134	12	2366	102*	19.39	2	9	42	0
S C Hughes	47	45	4	1557	130	37.98	5	6	7	0
D Huntingford	25	18	6	100	17*	8.33	0	0	7	0
L T Hutton	86	75	11	1171	55	18.29	0	2	30	0
A A Jain	47	43	1	754	64	17.95	0	5	21	0
K Jankowicz	57	52	0	1172	85	22.53	0	7	18	0
G A Jardine	304	289	29	6559	134*	25.23	5	26	80	6
A R Jenner	1095	1029	164	25820	132*	29.85	23	142	409	4
R A Johnson	309	257	41	4220	162*	19.53	1	20	94	0
L W Johnston	39	32	14	83	10	4.61	0	0	5	0
M P G Joseph	159	150	11	3488	105	25.09	3	16	44	0
A M Jouning	262	229	52	3763	70*	21.26	0	10	123	0
J B Jouning	765	733	83	18728	138*	28.81	14	108	297	20
K Kankate	29	27	6	886	101*	42.19	1	4	14	0
S Kalagara	86	64	17	981	60*	20.87	0	4	20	0
V Katyal	49	43	8	522	56	14.91	0	1	4	0
A Kennedy	34	32	5	641	74	23.74	0	3	14	0
M P B Kennedy	174	133	30	2589	125	25.13	1	12	108	46
R Kent	23	15	7	133	34*	16.63	0	0	5	0
W M Khan	57	56	4	1357	112	26.10	3	5	11	0
W W W L Lakshan	27	27	0	872	71	32.29	1	3	9	0
S R Larner	27	24	3	190	30	9.05	0	0	11	0
P K Lassman	191	141	38	1601	75*	15.54	0	3	77	0
C le Roux	21	17	0	370	55	21.76	0	3	11	0
R Loganathan	55	53	6	1317	102*	28.02	1	10	13	0
T J Lucas	188	105	38	989	87	14.76	0	3	131	69
A J Lynch	123	120	8	2647	100	23.63	1	12	38	0
A Madhavan	59	42	16	171	27*	6.58	0	0	11	0
R A Marett	147	94	38	1354	101*	24.18	1	3	41	0
R J Marshall	258	248	19	5710	121	24.93	8	25	43	0
S J Matthews	79	75	2	1402	101*	19.21	1	5	25	0
N M Mazhar	53	39	8	300	49	9.67	0	0	18	1
J McCormick	14	14	3	260	77	23.64	0	1	8	0
C S McEachern	154	136	13	2579	103*	20.97	1	10	40	0
S J P McGuinness	130	103	25	1447	70	18.55	0	7	42	1
C J McLoughlin	87	80	9	1290	64	18.17	0	3	33	10
P J McLoughlin	29	29	3	526	70	20.23	0	3	10	0
W B McLoughlin	43	32	8	194	42	8.08	0	0	3	0
B K G Mendis	29	27	3	985	171	41.04	2	6	12	7
M Millar	126	106	16	1534	80*	17.04	0	5	32	0
M I Mirza	31	28	4	262	39	10.92	0	0	4	0
F A Mir	322	263	48	4240	130*	19.72	2	16	68	0
R E A Miscampbell		42	3	922	125	23.64	1	5	11	0
K G B Mitchell	125	60	19	245	36	5.98	0	0	22	0
P A Moran	163	143	26	1741	89*	14.88	0	7	47 Cc	13

										ding
	Matches	Innings		Runs	_	Average	100s	50s	Ct	St
H J Morton	28	28	0	997	141	35.60	2	3	11	0
J Mosley	60	55	10	1207	118*	26.82	1	7	10	0
Farhad Mullahzada	37	25	6	310	43	16.32	0	0	7	0
Fawad Mullahzada	126	102	11	1715	109*	18.84	1	5	29	0
R A Mullahzada	84	58	10	682	68	14.21	0	2	27	0
A Munawar	24	12	4	79	33	9.88	0	0	4	0
J V Murray	28	27	2	1117	157	44.68	4	4	9	0
D E Nesbitt	67	64	6	1533	101	26.43	2	7	7	0
B Oduwole	96	89	4	1319	89	15.52	0	3	18	0
D J O'Leary	58	57	8	1419	130*	28.96	1	7	29	0
Ankit Patel	108	98	12	1410	75	16.39	0	4	38	0
C J Payne	507	483	95	16209	146	41.78	26	95	281	1
J R Perks	38	27	7	483	80	24.15	0	3	8	1
A Popat	52	50	7	859	65	19.97	0	3	25	0
D W Pyzer-Knapp	112	96	18	1538	81*	19.72	0	7	47	18
F A Quiyum	61	52	8	632	65	14.36	0	1	15	0
P J Robinson	130	122	19	3092	127*	30.02	2	18	54	0
A G H Rolt	385	249	49	1969	76	9.85	0	2	60	0
G S Rowe	1184	1115	136	30873	163*	31.54	33	182	450	1
A Saeed	110	106	19	3100	131*	35.63	3	21	37	0
A Sahota	78	75	5	1837	112	26.24	2	5	27	0
I C Salter	44	40	8	799	76*	24.97	0	5	10	0
J T Sambrook	79	73	4	1445	80	20.94	0	7	17	0
C Saville	602	386	143	4002	72*	16.47	0	4	157	0
D P Seccull	91	87	15	3817	152*	53.01	10	22	43	0
K Setia	42	38	4	759	88	22.32	0	5	16	0
Arvind Shah	33	23	10	126	27	8.15	0	0	4	0
S-R Sharma	174	164	15	2996	143	20.11	3	11	55	2
T Siddiqui	44	24	7	142	40	8.35	0	0	8	0
C A Silva	46	28	3	92	17	3.68	0	0	5	0
R Silva	24	17	3	183	47	13.07	0	0	5	0
M D J Singleton	68	41	15	398	39	15.30	0	0	49	34
A P Sivarajah	167	111	39	758	87	10.53	0	2	46	0
T Sivarajah	149	73	25	410	65	8.54	0	1	19	0
W N Slack	30	30	3	1288	128	47.70	2	10	20	0
M R N Slater	201	199	16	5922	109*	32.36	4	34	97	0
A V Spencer	245	243	26	7324	125*	33.75	11	39	69	0
M T Stafford	133	113	16	2664	105	27.46	2	14	46	0
T M R Stanton	28	21	3	301	44	16.72	0	0	3	0
M Stavri	211	184	34	1756	63	11.71	0	1	69	1
C T Steel	11	11	0	161	41	14.63	0	0	2	0
M O Stevens	308	282	33	7244	113*	29.09	6	41	125	4
C P Stevenson	66	65	8	2128	110*	37.33	3	11	36	0
L J W Stokes	465	380	93	7738	134*	26.96	9	30	104	2
M L Stratten	81	78	6	1834	78	25.47	0	16	26	0
N Sugumaran	56	31	13	149	19	8.28	0	0	9	0
B L Sutton	54	53	7	2071	172*	45.02	5	13	23	2
	٠.	23	,	2071	- , -	.5.02	J	10	23	_

				_					Field	_
	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Ct	St
S Syed	86	79	6	1022	48	14.00	0	0	14	0
C Telang	12	11	1	260	55	26.00	0	2	3	0
Matt Taylor	150	88	22	882	76	13.36	0	1	41	0
W S J Temple	49	36	10	273	31	10.50	0	0	16	9
H Thompson	75	57	12	364	36*	8.09	0	0	11	0
J A Thomson	66	54	13	756	102	18.44	1	2	22	0
J C Thorpe	163	88	33	1068	101*	19.42	2	2	32	0
N J Tohill	150	138	15	3410	132	27.73	3	15	48	3
S J Tohill	50	47	3	1690	146	38.41	2	10	20	0
P C R Tufnell	95	42	16	344	36*	13.23	0	0	23	0
R S Uppal	57	47	5	569	56	13.55	0	1	15	0
J Upton	28	20	4	206	45	12.88	0	0	11	0
M van Rhoon	106	104	9	3773	140	39.72	5	21	51	2
A J Vinson	159	134	23	2259	104	20.35	2	7	19	1
B F Vinson	40	26	7	238	45*	12.53	0	0	5	0
H D Vipani	50	44	1	364	43	8.46	0	0	2	0
S Wadham	39	27	6	163	24	7.76	0	0	7	0
C A Waller	405	391	29	10323	111	28.52	7	46	130	2
D K Walters	192	101	32	237	24	3.43	0	0	11	0
G A Wates	23	22	3	796	130	41.89	2	4	8	0
J R Watkins	34	28	4	565	103	23.54	1	2	11	0
FWP Webb	73	69	4	1471	76	22.63	0	8	18	0
W Wilkins	151	43	24	220	74	11.57	0	1	21	0
P I W Wilmshurst	117	73	17	521	36	9.30	0	0	26	0
J G Wilson	96	91	10	2154	107	26.10	3	6	10	0
G L Wingrove	207	117	41	815	55	10.72	0	1	60	0
M Wloch	80	74	10	1502	135	23.46	3	3	30	2
D A Woffinden	354	276	64	5921	104*	27.92	2	33	101	0
R G Woolston	21	14	4	199	36	19.99	0	0	3	0
K Yeh	40	38	2	522	81*	14.50	0	3	7	0
T J Yeomans	94	88	13	1820	113	24.26	1	12	18	0
S Zulfiqar	76	72	4	2289	113	33.66	2	11	23	0

Bowling

	Overs	Mdns	Runs	Wkts	Average	Best			Economy () (Runs/ov)
O S Ali	1163.0	113	5543	191	29.02	7-17	6	36.53	4.77
John Allen	388.4	41	1531	65	23.55	4-38	0	35.87	3.93
D G Ashley	235.0	32	965	40	24.13	6-11	1	35.25	4.11
A Babwah	358.4	26	1682	52	32.34	6-25	1	41.38	4.68
L K Babwah	492.4	69	2113	90	23.47	5-41	1	32.83	4.29
S M Babwah	391.3	52	1434	69	20.78	6-40	2	34.03	3.66
S Banyard	213.0	33	759	20	37.95	3-30	0	63.90	3.56
O M Bellwood	93.3	5	493	13	37.92	3-8	0	43.06	5.28
G K Berg	323.0	60	1043	55	18.96	6-50	2	35.23	3.22
J D Berman	483.0	58	2128	68	31.29	3-34	0	42.62	4.40
M R Bhatt	357.2	61	1245	59	21.10	6-85	2	36.33	3.48

	Overs	Mdns	Runs	Wkts	Average	Best	5wkts	S/Rate	Economy
					J		(Balls/wkt	(Runs/ov)
M A Bhatti	621.3	124	1994	99	20.14	7-62	4	37.63	3.21
R Bishop-Laggett	142.0	14	614	23	26.70	3-24	0	37.04	4.32
G N Blackmore	3462.0	742	11506	613	18.77	6-11	14	33.88	3.32
R N Blanchflower	86.0	13	333	10	33.30	3-22	0	51.60	3.87
G M Burton	1914.5	181	8137	344	23.65	5-26	4	33.39	4.24
R K A Bynoe	264.3	58	780	41	19.02	4-5	0	38.68	2.95
A J Carr	7669.4	1389	25196	1288	19.56	8-16	50	35.73	3.29
M D Carter	640.4	93	2431	124	19.60	7-52	5	31.00	3.79
N Chadwick	2108.3	371	7651	283	27.04	8-30	13	44.69	3.62
T Clark	125.5	7	693	20	34.65	3-7	0	37.75	5.50
M T Clucas	402.1	34	1701	62	27.44	4-5	0	38.91	4.23
M J Cox	239.5	20	1103	43	25.65	6-89	2	33.46	4.59
R C Crabtree	842.5	162	3196	110	29.05	5-37	1	45.95	3.79
S Cradock	4399.2	949	14006	600	23.34	7-41	12	43.99	3.18
M L Creese	1562.3	278	5632	278	20.26	9-65	19	33.72	3.60
K Critchell	146.1	23	656	21	31.23	3-18	0	41.76	4.48
J D Dangerfield	3873.2	706	12956	629	20.60	7-23	15	36.95	3.34
J N Dangerfield	506.5	54	2366	89	26.58	5-72	1	34.14	4.67
E Dass	91.0	2	458	20	22.90	3-39	0	27.30	5.03
P S Dave	71.1	4	453	21	21.10	4-38	0	20.33	6.36
W J Dean	2940.1	320	12053	475	25.37	6-40	7	36.82	4.10
M De Crescenzo	590.1	38	3040	119	25.55	5-37	3	29.75	5.15
R Desai	1699.2	262	6178	314	19.67	6-40	8	32.47	3.64
R Devarakonda	65.5	4	389	14	27.79	3-8	0	28.21	5.90
B Dharmarajah	534.4	80	2023	71	28.49	4-46	0	45.18	3.78
M Dias	117.0	11	561	16	35.06	3-48	0	43.88	4.79
W Dias	154.5	8	785	18	43.61	3-24	0	51.61	5.06
M T Dunn	3817.5	900	11679	650	17.97	8-32	20	35.24	3.06
P M Dunnett	282.0	33	1249	35	35.69	4-39	0	48.34	4.43
A K Durgacharan	2782.2	365	11075	484	22.88	8-60	22	34.49	3.98
T W Edrich	208.3	14	1170	30	39.00	2-10	0	41.70	5.61
D Edwards	535.2	61	2148	96	22.38	6-32	2	33.45	4.01
B D Elders	588.5	121	1775	122	14.55	5-17	3	28.94	3.01
S Faruqi	1715.3	158	7880	286	27.55	7-35	5	35.99	4.59
M D Feeney	367.2	28	1883	76	24.78	5-38	0	28.99	5.13
	269.1	43	917	31	29.58			52.09	3.40
A L Fleming S Flook	3663.1	719	12809	469	29.38	7-43 6-27	1 8	46.86	
				409 39			2		3.49
H N Folland	234.4	24	873 567		22.38	5-58 5-22		36.71	3.72
R Freckleton	142.3	20	567	28	20.25	5-33	2	30.53	3.97
D Gordon	531.3	61	2469	119	20.75	8-25	1	26.79	4.65
R D Gunn	58.3	10	177	7	25.28	2-1	0	50.14	3.02
M E Gurr	39.4	8	149	4	37.25	2-10	0	59.50	3.75
A Habberley	922.1	105	3735	129	28.95	6-42	3	42.89	4.05
T H L Hadgie	901.5	157	3270 1514	130	25.15	7-16 7-66	3	41.60	3.62
S Hafeji R J Hailey	327.5 3695.4	22 1174	1514 9710	56 712	27.04 13.64	7-66 8-25	1 46	35.09 31.14	4.62 2.62
K C Haria	12.2	0	9710 97	/12 4	24.25	8-23 2-11	0	18.50	2.62 7.86
T A Harris	164.1	19	756	33	24.23	6-48	1	29.84	4.61
B R Hartman	1265.1	193	4889	192	25.46	8-33	4	39.53	3.86
D K Hartillall	1203.1	193	7007	174	∠J.4U	0-33	+	37.33	Continued
									Commuea

	Overs	Mdns	Runs	Wkts	Average	Best	5wkts	S/Rate	Economy
									t) (Runs/ov)
E S Harvey	233.1	14	1181	37	31.92	5-64	1	37.81	5.06
K Hassanin	172.2	8	830	32	25.93	4-10	0	32.29	4.82
A Hawthorn	2851.0	531	10095	380	26.57	7-12	7	45.02	3.54
R M Hewit	548.4	74	2205	69	31.96	4-77	0	47.69	4.02
R F Hill	534.1	84	1997	65	30.72	4-42	0	49.30	3.74
J E Hobbs	1240.1	174	4639	200	23.19	6-102	2 4	37.20	3.74
P M G Honnor	290.0	47	1123	42	26.74	4-18	0	41.42	3.87
A O Hoskin	151.1	15	687	21	32.71	4-25	0	43.17	4.55
D C J Howell	1603.1	194	6823	197	34.63	7-27	2	48.83	4.26
M R Hughes	41.0	1	261	12	21.75	3-22	0	20.50	6.37
D Huntingford	123.3	12	562	24	23.42	3-19	0	30.87	4.55
L T Hutton	329.2	19	1595	57	27.98	4-25	0	34.65	4.85
K Jankowicz	91.1	10	383	16	23.93	4-47	0	34.18	4.20
A R Jenner	1737.4	158	8065	438	18.41	7-34	18	23.80	4.64
R A Johnson	1719.1	161	8090	284	28.49	5-30	2	36.32	4.71
L W Johnston	241.3	14	1197	42	28.50	5-50	1	34.47	4.96
M P G Joseph	25.4	0	128	8	16.00	3-26	0	19.05	5.04
A M Jouning	1079.3	166	4145	211	19.64	7-64	5	30.69	3.83
S Kalagara	611.2	92	2372	96	24.71	5-36	3	38.20	3.88
K Kankate	163.1	9	734	26	28.23	6-48	1	37.64	4.50
V Katyal	89.1	8	480	15	32.00	3-31	0	35.64	5.39
R Kent	224.0	36	761	33	23.06	8-39		40.72	3.39
W M Khan	125.2	8	534	20		3-24	1 0	37.60	3.39 4.26
					26.70				
W W W L Lakshan	267.4	42	914	62	14.74	6-18	2	25.90	3.41
P K Lassman	585.1	44	3346	102	32.80	5-35	2	34.42	5.72
C le Roux	174.0	21	685	22	34.13	3-9	0	47.45	3.93
R Loganathan	124.2	7	549	27	20.33	5-13	1	27.60	4.42
A J Lynch	63.0	3	377	18	20.94	4-37	0	21.00	5.98
A Madhavan	491.1	68	1825	82	22.26	5-38	1	35.93	3.72
R A Marett	1457.3	256	4781	227	21.06	8-41	7	38.52	3.28
N M Mazhar	205.2	13	1135	41	27.68	5-59	2	30.03	5.53
C S McEachern	720.3	73	2924	127	23.02	7-31	3	34.03	4.06
S J P McGuinness	465.5	50	2098	64	32.78	4-63	0	43.64	4.50
W B McLoughlin	236.4	17	1063	51	20.84	6-46	1	27.81	4.50
B K G Mendis	52.0	2	272	9	30.22	3-40	0	34.40	5.27
M Millar	195.0	11	1013	36	28.14	3-15	0	32.50	5.19
F A Mir	2169.2	255	9350	373	25.07	7-16	9	34.89	4.31
K G B Mitchell	1459.5	269	5518	246	22.43	7-76	9	35.60	3.77
P A Moran	237.2	16	1175	35	33.57	4-31	0	40.66	4.95
H J Morton	191.0	27	759	31	24.48	3-28	0	36.96	3.97
Farhad Mullahzada	230.3	22	954	38	25.11	3-33	0	36.36	4.14
Fawad Mullahzada	911.2	123	3813	164	23.25	8-20	3	33.53	3.53
R A Mullahzada	687.3	120	2429	123	19.75	5-3	4	29.60	3.53
A Munawar	205.0	35	688	29	23.72	4-23	0	42.41	3.35
J V Murray	60.0	8	281	9	31.22	3-69	0	40.00	4.68
B Oduwole	73.0	6	393	16	24.56	7-45	2	27.38	5.38
A Patel	487.3	55	1930	67	28.81	4-28	0	43.64	3.96
J R Perks	435.3	69	1450	78	18.59	5-46	1	33.48	3.33
									Continued

26

	Overs	Mdns	Runs	Wkts	Average	Roct	5wkte	S/Rata	Economy
	Overs	Muns	Kulis	WKG	Average	Dest			t) (Runs/ov)
A Popat	143.3	17	628	42	14.95	5-13	2	20.50	4.37
D W Pyzer-Knapp	49.2	1	288	8	36.00	3-60	0	37.00	5.83
F A Quiyum	531.1	80	1996	71	28.13	5-65	1	44.88	3.75
P J Robinson	244.5	21	1176	40	29.40	6-44	1	36.68	4.81
A G H Rolt	1408.4	180	6529	257	25.40	7-37	3	32.88	4.63
G S Rowe	4996.1	936	17114	849	20.15	9-21	12	35.30	3.42
A Sahota	19.3	1	111	2	55.50	1-21	0	58.50	5.69
I C Salter	274.3	25	1258	39	32.26	4-30	0	42.23	4.58
C Saville	7470.4	1676	23113	1162	19.89	8-30	57	38.57	3.09
D P Seccull	47.2	7	239	4	59.75	2-19	0	71.00	5.04
K Setia	99.5	8	427	20	21.35	4-40	0	29.95	4.27
Arvind Shah	331.2	40	1460	63	23.17	7-51	5	31.50	4.41
C E Shreck	227.5	31	795	37	21.48	4-19	0	36.94	3.48
T Siddiqui	420.4	61	1684	72	23.39	4-12	0	35.05	4.00
C A Silva	256.4	27	1111	38	29.24	4-31	0	40.48	4.33
R Silva	136.3	13	627	17	36.88	2-15	0	48.17	4.59
T Sivarajah	1441.1	366	4115	192	21.43	6-62	3	45.03	2.85
A P Sivarajah	1590.3	224	6224	296	21.03	7-37	10	32.23	3.91
M T Stafford	988.0	150	3607	171	21.09	7-86	6	34.66	3.65
T M R Stanton	99.2	5	515	27	19.07	4-21	0	22.04	5.19
M O Stevens	1179.5	126	5130	254	20.19	7-54	8	27.86	4.35
C P Stevenson	163.3	35	486	22	22.09	3-24	0	44.54	2.98
L J W Stokes	3548.0	595	13991	656	21.33	8-30	17	32.45	3.94
M L Stratten	74.2	8	392	16	24.50	3-34	0	27.83	5.28
N Sugumaran	397.1	51	1423	66	21.56	4-26	0	36.10	3.58
Matt Taylor	1343.0	269	4418	199	22.20	7-48	5	40.49	3.29
C Telang	109.0	34	275	28	9.82	6-20	1	23.35	2.52
H Thompson	515.1	69	1912	95	20.13	5-35	1	32.53	3.71
J A Thomson	278.4	26	1245	42	29.64	4-42	0	39.77	4.47
J C Thorpe	1231.4	211	4258	201	21.18	6-21	4	36.76	3.45
N J Tohill	223.5	19	1069	33	32.39	6-44	1	40.72	4.77
P C R Tufnell	1023.2	240	3051	194	15.72	7-4	7	31.64	2.98
R S Uppal	365.2	30	1455	72	20.21	6-32	3	30.43	3.98
J Upton	213.0	27	801	40	20.03	3-42	0	31.95	3.76
M van Rhoon	332.3	69	1002	49	20.44	5-22	1	40.69	3.02
A J Vinson	829.1	103	3546	137	25.88	7-60	5	36.31	4.27
B F Vinson	256.2	37	922	30	30.73	4-26	0	51.24	3.60
H. Vipani	61.0	1	479	6	79.83	2-48	0	61.00	7.85
S Wadham	301.2	57	1067	56	19.05	5-14	1	32.28	3.54
D K Walters	684.1	69	3315	91	36.42	6-31	1	45.11	4.85
G A Wates	220.3	35	789	34	23.20	7-73	1	38.91	3.57
W Wilkins	1220.4	194	4498	171	26.30	6-59	5	42.82	3.69
P I W Wilmshurst	480.0	63	2191	88	24.90	6-23	1	32.72	4.56
J G Wilson	39.5	2	200	2	100.00	1-21	0	119.50	5.02
G L Wingrove	1839.0	186	7705	409	18.83	8-67	12	26.98	4.19
M Wloch	117.1	10	519	14	37.07	2-1	0	50.21	4.42
D A Woffinden	2606.0	582	8645	477	18.12	8-41	19	32.78	3.32
									Continued

	Overs	Mdns	Runs	Wkts	Average	Best	5wkts	S/Rate	Economy
							(Balls/wkt	(Runs/ov)
R G Woolston	255.4	45	839	47	17.85	6-48	3	32.63	3.28
T J Yeomans	274.4	41	1117	32	34.90	5-21	1	51.45	4.07
S Zulfiqar	176.4	9	802	30	26.73	5-56	1	35.33	4.53